


&еD<8=K 8 опDеделе=8O:  

�4O6к4 

�=DоD<4F8O 8 доку<е=тK, пDедEт46ле==Kе �Dете=де=то</'G4Eт=8ко< длO уG4Eт8O 6 Ко=куDEе. �4O6к4 
о7=4G4ет Eо7л4E8е �Dете=де=т4/'G4Eт=8к4 =4 уG4Eт8е 6 Ко=куDEе 6 поDOдке 8 =4 уEло68OE, 
пDедуE<отDе==KE ко=куDE=о9 доку<е=т4F8е9. 

�4к47G8к 

 

�ND8 

 45оG89 оD74= Ко=куDE4, EDоD<8Dо64==K9 6 Eоот6етEт688 E DеHе=8е< ОD74=874тоD4 Ко=куDE4. � EоEт46 
6ND8 Ко=куDE4 6EодOт 6едуI8е DоEE89Eк8е MкEпеDтK 6 EDеDе 4DE8тектуDK, д8749=4 8 7оDодEко7о 
пл4=8Dо64=8O, л4=дH4Dт=Kе 4DE8тектоDK, EпеF84л8EтK 6 EDеDе теDD8тоD84лL=о7о D4768т8O, 
пDедEт468тел8 4д<8=8EтD4F88 К474=8 8  еEпу5л8к8 &4т4DEт4=, пDедEт468тел8 587=еE-EDедK 8 <еEт=KE 
MкEпеDт=KE оD74=874F89. 'ле=K �ND8 =47=4G4NтEO 8 де9Eт6уNт 6 л8G=о< к4GеEт6е, 4 =е к4к пDедEт468тел8 
оD74=874F89, Gле=4<8 (уG4Eт=8к4<8) оD74=о6 упD46ле=8O 8л8 D45от=8к4<8 котоDKE о=8 O6лONтEO. О=8 =е 
дол6=K =8 пD8=8<4тL к 8Eпол=е=8N, =8 74пD4H864тL у к4к8E-л85о л8F 8=EтDукF88 по пD8=Oт8N 8<8 
DеHе=89, от=оEOI8EEO к ко<пете=F88 �ND8. 

К4т4ло7 74Dе78EтD8Dо64==KE 74O6ок 

�оку<е=т, EоEт46лOе<K9 ОD74=874тоDо< 8 о5Jед8=ONI89 пDедEт46ле==Kе 'G4Eт=8к4<8 �4O6к8, 
пDоHедH8е &еE=8GеEк89 от5оD. 

Ко=куDE  

ОткDKтK9 ко=куDE =4 D47D45отку ко=FепF88 5л47оуEтDо9Eт64 плоI4д8 у Eт4=F88 <етDо «&улп4D». 

Ко=куDE=4O доку<е=т4F8O  

�оку<е=т4F8O о Ко=куDEе, котоD4O 6клNG4ет 6 Eе5O: 

- �D87л4Hе=8е к уG4Eт8N (876еIе=8е о пDо6еде=88 Ко=куDE4);  

- �оло6е=8е о ко=куDEе;  

- &еE=8GеEкое 74д4=8е;  

- �EEод=Kе д4==Kе. 

Ко=куDE=Kе кD8теD88 

КD8теD88, 6 Eоот6етEт688 E котоDK<8 оFе=864NтEO 8 EопоEт46лONтEO пDедEт46ле==Kе $8=4л8Eт4<8 
�DE8тектуD=о-7D4доEтDо8телL=Kе ко=FепF88. Ко=куDE=Kе кD8теD88 пD86еде=K 6 �D8ло6е=88 4 
=4EтоOIе7о �оло6е=8O.  

Ко=куDE=ое пDедло6е=8е 

 е7улLт4т D45отK 'G4Eт=8к4 по D47D45отке Ко=FепF88 5л47оуEтDо9Eт64 плоI4д8 у Eт4=F88 <етDо &улп4D 6 
Eоот6етEт688 E тDе5о64=8O<8 Ко=куDE=о9 доку<е=т4F88. 

!оEт46, EодеD64=8е 8 тDе5о64=8O к Ко=куDE=K< пDедло6е=8O< 8 8E оDоD<ле=8N опDеделе=K 6 
�D8ло6е=88 3. 

Ко=EоDF8у< 



О5Jед8=е=8е д6уE 8 5олее ND8д8GеEк8E л8F 8л8 8=д868ду4лL=KE пDедпD8=8<4теле9, пD8=8<4NI8E 
уG4Eт8е 6 Ко=куDEе 6 к4GеEт6е ед8=о7о �Dете=де=т4/'G4Eт=8к4. 

ОD74=874тоD 

ООО «�DE8тектуD=ое 5NDо �� 1» 

�о5ед8телL 

'G4Eт=8к, GLе<у Ко=куDE=о<у пDедло6е=8N пD8E6ое= пеD6K9 =о<еD по 8то74< оFе=к8 8 EопоEт46ле=8O 
�ND8 Ко=куDE=KE пDедло6е=89, пDедEт46ле==KE 'G4Eт=8к4<8. 

�Dете=де=т 

ЛN5ое ND8д8GеEкое л8Fо, 8л8 8=д868ду4лL=K9 пDедпD8=8<4телL, 8л8 Ко=EоDF8у< ND8д8GеEк8E л8F, 
6ел4NI89 пD8=OтL уG4Eт8е 6 Ко=куDEе. 

 е9т8=7 ко=куDE=KE пDедло6е=89 

 е9т8=7 ко=куDE=KE пDедло6е=89, пDедоEт46ле==KE 'G4Eт=8к4<8 6 D4<к4E Ко=куDE4, EDоD<8Dо64==K9 по 
Dе7улLт4т4< 74Eед4=8O �ND8. 

&еE=8GеEк89 от5оD 

От5оD 74O6ок �Dете=де=то6 ОD74=874тоDо< ко=куDE4 =4 пDед<ет 8E Eоот6етEт68O пDедJO6лOе<K< 
тDе5о64=8O< к �4O6ке. 

&еE=8GеEкое 74д4=8е  

 476еD=утое оп8E4=8е тDе5о64=89 ОD74=874тоD4 Ко=куDE4 к D47D454тK64е<K< 'G4Eт=8к4<8 Ко=куDE=K< 
пDедло6е=8O<. 

'G4Eт=8к  

�Dете=де=т, �4O6к4 котоDо7о пDоHл4 &еE=8GеEк89 от5оD 8 пD8=Oт4 к D4EE<отDе=8N.  

Ф8=4л8Eт  

'G4Eт=8к, 74O6ке котоDо7о DеHе=8е< пеD6о7о 74Eед4=8O �ND8 пD8E6ое=о <еEто E 1 по 3 6 
К64л8D8к4F8о==о< Dе9т8=7е 74O6ок. 

 

 

 

 

 

 

 

 

 

 

 



1. О5I8е поло6е=8O о ко=куDEе. 

1.1. Цел8 8 74д4G8 ко=куDE4 

Ко=куDE пDо6од8тEO E FелLN по8Eк4 =48луGHе7о ко=Fепту4лL=о7о DеHе=8O 5л47оуEтDо9Eт64 плоI4д8 у 
Eт4=F88 <етDо &улп4D. 

1.2. �Dед<ет Ко=куDE4 

&еDD8тоD8O, о7D4=8Gе==4O ул8F4<8 �етD4 �олуHк8=4, пD.�лL5еDт4 К4<4лее64. 

1.3. �D4D8к 8 EDок8 Ко=куDE4 

Ко=куDE откDKтK9, д6уEMт4п=K9. 

�D4D8к пDо6еде=8O Ко=куDE4 опDеделе= 6 �D8ло6е=88 1 к =4EтоOIе<у �оло6е=8N. 

1.4. �ол=о<оG8O оD74=874тоD4 

ОD74=874тоD оEуIеEт6лOет Dу=кF88, E6O74==Kе E пDо6еде=8е< Ко=куDE4, 6 то< G8Eле: 

- опу5л8ко64=8е 8 D47<еIе=8е 876еIе=8O о пDо6еде=88 Ко=куDE4; 

- пD8е< от �Dете=де=то6, 'G4Eт=8ко6, $8=4л8Eто6 Eоо5Iе=89, 8=DоD<4F88 8 доку<е=то6, 6клNG4O �4O6к8 
8 Ко=куDE=Kе пDедло6е=8O; 

- пу5л8к4F8O 876еIе=89 8 у6едо<ле=89, E6O74==KE E Ко=куDEо<; 

- оD74=874F8O 8 пDо6еде=8е под7ото68телL=KE 8 о7=4ко<8телL=KE <еDопD8Oт89; 

- 6748<оде9Eт68е E Gле=4<8 �ND8; 

- под7ото6к4 <4теD84ло6 длO 74Eед4=89 �ND8, 6 то< G8Eле К4т4ло74 74Dе78EтD8Dо64==KE 74O6ок; 

- оD74=874F8O 74Eед4=89 �ND8; 

- пDедоEт46ле=8е D47JOE=е=89 поло6е=89 Ко=куDE=о9 доку<е=т4F88 �Dете=де=т4<, 'G4Eт=8к4<, 
$8=4л8Eт4<, �о5ед8телN;  

- 6еде=8е пDотокол4 74Eед4=89 �ND8. 

1.5. �ол=о<оG8O 8 пD8=F8пK деOтелL=оEт8 �ND8 

1.5.1. К пол=о<оG8O< �ND8 от=оE8тEO: 

- оFе=к4 8 EопоEт46ле=8е Ко=куDE=KE пDедло6е=89, под7ото6ле==KE 'G4Eт=8к4<8, DоD<8Dо64=8е 
 е9т8=74 Ко=куDE=KE пDедло6е=89; 

- д8Eк64л8D8к4F8O 'G4Eт=8ко6. 

1.5.2. � E6ое9 D45оте �ND8 Dуко6одEт6уетEO пD8=F8п4<8 пDоDеEE8о=4л87<4, =е7468E8<оEт8 <=е=89 8 
о5Jект86=оEт8 Eуде9Eт64, 4 т4к6е тDе5о64=8O<8 д4==о7о �оло6е=8O. 

1.6. �=еEе=8е 87<е=е=89 6 �оло6е=8е 

1.6.1. ОD74=874тоD по Eо5Eт6е==о9 8=8F84т86е 6пD46е пD8=OтL DеHе=8е о 6=еEе=88 87<е=е=89 6 
�оло6е=8е о пDо6еде=88 Ко=куDE4 =е по7д=ее Gе< 74 5 (пOтL) D45оG8E д=е9 до д4тK око=G4=8O пD8е<4 
�4O6ок. 

�7<е=е=8е пDед<ет4 Ко=куDE4 =е допуEк4етEO. 



1.6.2. � теGе=8е 2 (д6уE) D45оG8E д=е9 Eо д=O пD8=Oт8O DеHе=8O о 6=еEе=88 87<е=е=89 6 �оло6е=8е о 
пDо6еде=88 Ко=куDE4 т4к8е 87<е=е=8O пу5л8куNтEO ОD74=874тоDо< =4 !49те Ко=куDE4 8 E Mто7о <о<е=т4 
Eт4=о6OтEO о5O74телL=K<8 длO к46до7о �Dете=де=т4/'G4Eт=8к4 Ко=куDE4. 

1.7. Ко=куDE=4O доку<е=т4F8O 

�оку<е=т4F8O о Ко=куDEе, котоD4O 6клNG4ет EледуNI8е D47делK, к46дK9 87 котоDKE EоEт46лOет ее 
=еотJе<ле<уN G4EтL:  

 47дел I: �D87л4Hе=8е к уG4Eт8N (876еIе=8е о пDо6еде=88 Ко=куDE4);  

 47дел II: �оло6е=8е о Ко=куDEе;  

 47дел III: &еE=8GеEкое 74д4=8е;  

 47дел IV: �EEод=Kе д4==Kе 

1.8. �оDOдок пу5л8к4F88 ко=куDE=о9 доку<е=т4F88 

1.8.1.  47дел I 8 D47дел II Ко=куDE=о9 доку<е=т4F88 пу5л8куNтEO =4 !49те Ко=куDE4 6 откDKто< доEтупе 5-
7 дек45DO 2023 7од4. 

1.8.2.  47дел III 8  47дел IV =4пD46лONтEO $8=4л8Eт4< Ко=куDE4 поEDедEт6о< MлектDо==о9 поGтK =4 4дDеE, 
ук474==K9 $8=4л8Eто< 6 ко=куDE=о9 �4O6ке 6 теGе=8е 5 D45оG8E д=е9 Eо д=O о5JO6ле=8O Dе7улLт4то6 1 
Mт4п4 Ко=куDE4 8 DоD<8Dо64=8O К64л8D8к4F8о==о7о Dе9т8=74 �4O6ок. 

1.9. �DедоEт46ле=8е D47JOE=е=89 

1.9.1. ЛN5о9 �Dете=де=т, 'G4Eт=8к, $8=4л8Eт 6пD46е =4пD468тL ОD74=874тоDу 74пDоE о D47JOE=е=88 
поло6е=89 Ко=куDE=о9 доку<е=т4F88. &4ко9 74пDоE =4пD46лOетEO 6 п8EL<е==о< 68де поEDедEт6о< 
поGто6о9 8л8 MлектDо==о9 E6O78 по ук474==о<у 6 =4EтоOIе< �оло6е=88 о пDо6еде=88 Ко=куDE4 4дDеEу. 

1.9.2. ОD74=874тоD о5O74= пDедоEт468тL от6ет =4 74пDоE о D47JOE=е=88 поло6е=89 Ко=куDE=о9 
доку<е=т4F88 6 DоD<е MлектDо==о7о доку<е=т4 6 теGе=8е 5 (пOт8) D45оG8E д=е9 Eо д=O поEтупле=8O 
ук474==о7о 74пDоE4. �4пDоEK �Dете=де=то6 дол6=K поEтуп8тL =е по7д=ее, Gе< 74 5 (пOтL) D45оG8E д=е9 до 
око=G4=8O EDок4 пD8е<4 �4O6ок. ОD74=874тоD =е о5O74= от6еG4тL =4 74пDоEK, поEтуп86H8е поEле Mто7о 
EDок4. 

1.9.3. �4деD6к4 6 пDедоEт46ле=88 от6ето6 =е <о6ет EG8т4тLEO оE=о64=8е< длO пDодле=8O EDок4 под4G8 
�4O6к8 8л8 Ко=куDE=о7о пDедло6е=8O. 

1.10.  47DеHе=8е EпоDо6 

�4EтоOIее �оло6е=8е о пDо6еде=88 Ко=куDE4 Dе7ул8DуетEO 8 толкуетEO 6 Eоот6етEт688 E 
74ко=од4телLEт6о<  оEE89Eко9 $едеD4F88. К от=оHе=8O< л8F, уG4Eт6уNI8E 6 Ко=куDEе 8л8 пD86лек4е<KE 
к е7о пDо6еде=8N, 6 E6O78 E пDо6еде=8е< Ко=куDE4, пD8<е=OетEO 74ко=од4телLEт6о  оEE89Eко9 $едеD4F88. 
�Eе EпоDK, котоDKе <о7ут 6о7=8к=утL 87 от=оHе=89 EтоDо= 6 E6O78 E пDо6еде=8е< Ко=куDE4, подле64т 
D47DеHе=8N 6 Eоот6етEт6уNI8E ко<пете=т=KE Eуд4E  оEE89Eко9 $едеD4F88 по <еEту =4Eо6де=8O 
ОD74=874тоD4 6 Eоот6етEт688 E пDоFеEEу4лL=K< 74ко=о<  оEE89Eко9 $едеD4F88. 

1.11. Я7Kк Ко=куDE4 

ОD8F84лL=K< O7Kко< ко=куDE4 O6лOетEO DуEEк89 O7Kк, ко=куDE=Kе пDедло6е=8O дол6=K 5KтL 
пDедоEт46ле=K =4 DуEEко< O7Kке. 

1.12. Ко=т4ктK ОD74=874тоD4 

1.12.1. �дDеE оD8F84лL=о9 EтD4=8FK ко=куDE4: akbars-dom.ru 



1.12.2. �дDеE, по котоDо<у =4пD46лONтEO '6едо<ле=8O 8 �4O6к8, Ко=куDE=Kе пDедло6е=8O, 74пDоEK о 
D47JOE=е=88 поло6е=89 Ко=куDE=о9 доку<е=т4F88: 

 еEпу5л8к4 &4т4DEт4=, 420087, 7.К474=L, ул.�делO КутуO, 7д4=8е 118, коDп.2, по<.3 (Mт46 3) 

ООО «�DE8тектуD=ое 5NDо �� 1»; 

e-mail: konkurs@abdev.ru E по<етко9 «Ко=FепF8O 5л47оуEтDо9Eт64 �лоI4д8»; 

тел.: +7 (906) 112 81 01. 

 

2. �оDOдок пDо6еде=8O Ко=куDE4  

2.1. Ко=куDE пDо6од8тEO 6 2 Mт4п4 

1-K9 Mт4п – пD8е< �4O6ок =4 уG4Eт8е, MEEе 8 поDтDол8о от 4DE8тектуD=KE 5NDо, к64л8D8к4F8о==K9 от5оD 
$8=4л8Eто6 (MEEе – оп8E4=8е 68де=8O 5л47оуEтDо9Eт64 плоI4д8, <о6ет 6клNG4тL 7D4D8GеEкуN 8 
оп8E4телL=уN G4EтL). 

2-о9 Mт4п – D47D45отк4 Ко=куDE=KE пDедло6е=89 6K5D4==K<8 =4 пеD6о< 74Eед4=88 �ND8 $8=4л8Eт4<8, 
DоD<8Dо64=8е  е9т8=74 Ко=куDE=KE пDедло6е=89 'G4Eт=8ко6 =4 оE=о6е оFе=ок �ND8, 6K5оD =48луGHе7о 
Ко=куDE=о7о пDедло6е=8O. 

2.2. �од4G4 �4O6ок 

2.2.1. $оD<4 �4O6к8 уEт4=о6ле=4 6 �D8ло6е=88 2 к =4EтоOIе<у �оло6е=8N. 

2.2.2. �D8е< �4O6ок =4G8=4етEO E <о<е=т4 пу5л8к4F88 =4 !49те Ко=куDE4 �76еIе=8O о пDо6еде=88 
Ко=куDE4 8 74к4=G864етEO 6 12:00 G4Eо6 29 дек45DO 2023 7.  

2.2.3. �4O6к4 пDедоEт46лOетEO 6 MлектDо==о< 68де путе< 74пол=е=8O DоD<K =4 !49те Ко=куDE4. 

2.2.4. �Dете=де=т 6пD46е 6=еEт8 87<е=е=8O 6 E6оN �4O6ку, =4пD4686 Eоот6етEт6уNIее 876еIе=8е E 
пD8ло6е=8е< 87<е=е==KE доку<е=то6 =е по7д=ее Gе< 74 3 (D45оG8E) д=O до 8EтеGе=8O EDок4 
пDедоEт46ле=8O �4O6ок. 

2.3.  е78EтD4F8O 'G4Eт=8ко6 

2.3.1.  е78EтD4F8O �Dете=де=то6 6 к4GеEт6е 'G4Eт=8ко6 Ко=куDE4 пDо8EEод8т =4 оE=о64=88 под4==о9 
�4O6к8; 

2.3.2. ОD74=874тоD 8<еет пD46о отк474тL 6 Dе78EтD4F88 �Dете=де=т4 6 к4GеEт6е 'G4Eт=8к4 Ко=куDE4 по 
EледуNI8< оE=о64=8O<: 

- од8= 8 тот 6е �Dете=де=т под4л 5олее од=о9 �4O6к8; 

- �4O6к4 =е EодеD68т =ео5Eод8<KE E6еде=89 8л8 доку<е=то6, пDедуE<отDе==KE =4EтоOI8< �оло6е=8е< 
8л8 EодеD68т =едоEто6еD=Kе E6еде=8O 8 доку<е=тK; 

- �4O6к4 под4=4 E =4DуHе=8е< EDоко6 под4G8, ук474==KE 6 п.2.2.2. =4EтоOIе7о �оло6е=8O. 

2.4.  4EкDKт8е 8=DоD<4F88 

2.4.1. ОE=о64=8O длO 6о7<о6=о7о ко=Dл8кт4 8=теDеEо6.  

�Eл8 �Dете=де=т/'G4Eт=8к (дол6=оEт=ое л8Fо 8л8 EотDуд=8к �Dете=де=т4/'G4Eт=8к4) (6 EлуG4е, ко7д4 
�Dете=де=то< 6KEтуп4ет Ко=EоDF8у<, лN5о9 уG4Eт=8к Ко=EоDF8у<4 (дол6=оEт=ое л8Fо 8л8 EотDуд=8к 
уG4Eт=8к4 Ко=EоDF8у<4) O6лOетEO 4DD8л8Dо64==K< л8Fо<: 

mailto:konkurs@abdev.ru


- по от=оHе=8N к Gле=у �ND8, 4 т4к6е к D878GеEко<у л8Fу, подG8=е==о<у Gле=у �ND8 по дол6=оEт=о<у 
поло6е=8N;  

- по от=оHе=8N к л8Fу, оEуIеEт6лONIе<у Dу=кF88 ед8=ол8G=о7о 8Eпол=8телL=о7о оD74=4, 8л8 Gле=у 
колле784лL=о7о 8Eпол=8телL=о7о оD74=4 ОD74=874тоD4 (6клNG4O к46до7о е7о Eо8Eпол=8телO, 
Eу5подDOдG8к4 8 ко=EулLт4=т4 6 D4<к4E пDо6еде=8O Ко=куDE4), 4 т4к6е D878GеEко<у л8Fу, подG8=е==о<у 
т4ко<у л8Fу по дол6=оEт=о<у поло6е=8N (пD8 Mто< длO Fеле9 д4==о7о пу=кт4 D878GеEкое л8Fо =е 
пD87=4етEO подG8=е==K< опDеделе==о<у л8Fу по дол6=оEт=о<у поло6е=8N, еEл8 тDудо64O Dу=кF8O 
т4ко7о л8F4 EоEт46лOет 8EклNG8телL=о оEуIеEт6ле=8е =4уG=о9, пDепод464телLEко9 8л8 8=о9 т6оDGеEко9 
деOтелL=оEт8), котоDKе длO Fеле9 д4==о7о пу=кт4 пD87=4NтEO EпоEо5=K<8 6л8OтL =4 Dе7улLт4т Ко=куDE4. 

2.4.2. �8EL<о о D4EкDKт88 

2.4.2.1. �D8 =4л8G88 оE=о64=89, пDедуE<отDе==KE пу=кто< 2.4.1 =4EтоOIе7о �оло6е=8O, 
�Dете=де=т/'G4Eт=8к о5O74= пDедEт468тL ОD74=874тоDу �8EL<о о D4EкDKт88 6 7468E8<оEт8 от <о<е=т4 
6о7=8к=о6е=8O Eоот6етEт6уNI8E оE=о64=89:  

- пD8 =4л8G88 оE=о64=89, 6о7=8кH8E =4 <о<е=т под4G8 �4O6к8 — 6 EоEт46е �4O6к8;  

- пD8 =4л8G88 оE=о64=89, 6о7=8кH8E поEле пDедоEт46ле=8O �4O6к8 — =е<едле==о поEле 8E 
6о7=8к=о6е=8O. 

2.4.2.2. �8EL<о о D4EкDKт88 пDедоEт46лOетEO 6 E6о5од=о9 DоD<е 8 дол6=о EодеD64тL: 

- ук474=8е =4 оE=о64=8е, по котоDо<у �Dете=де=т/'G4Eт=8к <о6ет 5KтL пD87=4= о5л4д4NI8< 
6о7<о6=оEтLN 6л8OтL =4 8EEод Ко=куDE4 6 Eоот6етEт688 E пу=кто< 2.4.1., 6 то< G8Eле ук474=8е =4 л8Fо, E 
котоDK< E6O74= �Dете=де=т/'G4Eт=8к; 

- E4D4ктеD E6O78 – оE=о64=8е, по котоDо<у �Dете=де=т/'G4Eт=8к O6лOетEO 8л8 <о6ет 5KтL пD87=4= 
4DD8л8Dо64==K< л8Fо< Eоот6етEт6уNIе7о л8F4; 

- оEо5е==оEт8 E6O78 – лN5Kе допол=8телL=Kе E6еде=8O о Eоот6етEт6уNIе9 E6O78, котоDKе по <=е=8N 
�Dете=де=т4/'G4Eт=8к4 <о7ут 5KтL поле7=K длO оFе=к8 де9Eт68телL=KE 6о7<о6=оEте9 
�Dете=де=т4/'G4Eт=8к4 6л8OтL =4 8EEод Ко=куDE4. 

2.4.2.3. �8EL<о о D4EкDKт88 подле68т о5O74телL=о<у 6клNGе=8N 6 К4т4ло7 74Dе78EтD8Dо64==KE �4O6ок. 

�епDедEт46ле=8е пDете=де=то</'G4Eт=8ко< �8EL<4 о D4EкDKт88, ко7д4 6 Eоот6етEт688 E п.2.4.2. Mто 
EG8т4етEO о5O74телL=K<, O6лOетEO 5е7уEло6=K< оE=о64=8е< длO д8Eк64л8D8к4F88 
�Dете=де=т4/'G4Eт=8к4. 

2.5. 'G4Eт8е 6 ко=куDEе Ко=EоDF8у<о6 

2.5.1. Ко=EоDF8у<: 

- ND8д8GеEк8е л8F4 8л8 8=д868ду4лL=Kе пDедпD8=8<4тел8, 6ел4NI8е пD8=OтL уG4Eт8е 6 Ко=куDEе, <о7ут 
о5Jед8=8тLEO 6 Ко=EоDF8у<K. �д4пт4F8O Ко=куDE=о9 доку<е=т4F88 8 8=KE <4теD84ло6, 4 т4к6е 
пDо6од8<KE <еDопD8Oт89 6 D4<к4E Ко=куDE4 длO 8=оEтD4==KE ND8д8GеEк8E л8F, 6EодOI8E 6 Ко=EоDF8у<, 
ОD74=874тоDо< =е оEуIеEт6лOетEO. 

- ND8д8GеEк8е л8F4, о5Jед8=е==Kе 6 Ко=EоDF8у<, под4Nт ед8=уN 74O6ку от 8<е=8 Ко=EоDF8у<4 8 
пD87=4NтEO длO Fеле9 Ко=куDE4 ед8=K< �Dете=де=то</'G4Eт=8ко</$8=4л8Eто<. 

- �Dете=де=т, 6ел4NI89 уG4Eт6о64тL 6 Ко=куDEе 6 DоD<е Ко=EоDF8у<4, пDедEт46лOет 6 EоEт46е �4O6к8 
�екл4D4F8N о5 оD74=874F88 Ко=EоDF8у<4, пD86леGе=88 Eу5подDOдG8ко6 8 ко=EулLт4=то6 (�D8ло6е=8е 5). 



- уG4Eт=8к од=о7о Ко=EоDF8у<4 =е <о6ет пDете=до64тL =4 уG4Eт8е 6 Ко=куDEе 8=д868ду4лL=о 8л8 6 EоEт46е 
дDу7о7о Ко=EоDF8у<4. 

2.5.2. Л8деD Ко=EоDF8у<4 

- уG4Eт=8к8 ко=EоDF8у<4 опDеделONт Л8деD4 Ко=EоDF8у<4; 

- Л8деDо< Ко=EоDF8у<4 <о6ет 5KтL толLко DоEE89Eкое ND8д8GеEкое л8Fо 8л8 8=д868ду4лL=K9 
пDедпD8=8<4телL; 

- поDтDол8о Ко=EоDF8у<4 дол6=о EодеD64тL =е <е=ее од=о7о пDоект4 Л8деD4 Ко=EоDF8у<4; 

- Л8деD Ко=EоDF8у<4 6 от=оHе=8OE E ОD74=874тоDо< 6 D4<к4E Ко=куDE4 пD87=4етEO пDедEт46лONI8< 
8=теDеEK 6EеE уG4Eт=8ко6 Ко=EоDF8у<4; 

- E FелLN оEуIеEт6ле=8O ко<<у=8к4F88 по 6опDоE4<, E6O74==K< E Ко=куDEо<, Л8деD Ко=EоDF8у<4 
пDедоEт46лOет 8=DоD<4F8N о Eе5е, E6ое< пDедEт468теле, E6о8 ко=т4кт=Kе д4==Kе, 8=DоD<4F8N о 
пD86леGе=88 Eу5подDOдG8ко6 8 ко=EулLт4=то6 6 DоD<4те 74пол=е==о9 �екл4D4F88 о5 оD74=874F88 
Ко=EоDF8у<4. 

2.6. �оDOдок D45отK �ND8 

2.6.1. � D4<к4E Ко=куDE4 74пл4=8Dо64=о д64 74Eед4=8O �ND8:  

- К64л8D8к4F8о==K9 от5оD 3 $8=4л8Eто6 =4 оE=о6е �4O6ок, под4==KE 'G4Eт=8к4<8 Ко=куDE4; 

- �K5оD луGHе7о Ко=куDE=о7о пDедло6е=8O 87 D45от, под4==KE $8=4л8Eт4<8. 

2.6.2. �Eл8 6 опDеделе==уN д4ту, =4 котоDуN =47=4Gе=о 74Eед4=8е �ND8, отEутEт6ует к6оDу< 8л8 6 
74Eед4=88 =е пD8=Oто =ео5Eод8<ое DеHе=8е, 74Eед4=8е �ND8 <о6ет 5KтL по DеHе=8N �ND8, пD8=Oто<у 
8<еNI8<EO EоEт46о< 8л8 74оG=K< 7олоEо64=8е<, пеDе=еEе=о =4 дDу7о9 де=L. 

2.6.3. �4 74Eед4=88 �ND8 пD8EутEт6уNт пDедEт468тел8 ОD74=874тоD4. 

�4Eед4=8е 6ND8 6едет �DедEед4телL 6ND8 8л8 пDедEт468телL ОD74=874тоD4. 

2.6.4. �DедEед4телL �ND8 

2.6.4.1. �DедEед4телL �ND8 =47=4G4етEO DеHе=8е< ОD74=874тоD4. 

2.6.4.2. � EлуG4е отEутEт68O �DедEед4телO �ND8 =4 74Eед4=88, пол=о<оG8O �DедEед4телO �ND8 
оEуIеEт6лOет 74<еEт8телL �DедEед4телO, =47=4G4е<K9 DеHе=8е< ОD74=874тоD4. 

2.6.4.3. �ол=о<оG8O �DедEед4телO �ND8: 

- 6едет 74Eед4=8е �ND8; 

- пD8=8<4ет от Gле=о6 �ND8 пDедло6е=8O по 6=еEе=8N 6опDоEо6 6 по6еEтку д=O 74Eед4=8O; 

- 6=оE8т пDедло6е=8O 6 по6еEтку д=O 74Eед4=8O; 

- DоD<ул8Dует 6опDоEK по6еEтк8 д=O 8 пDоектK DеHе=89 по =8<; 

- <одеD8Dует о5Eу6де=8е 6опDоEо6 по6еEтк8 д=O; 

- ут6еD6д4ет пDотоколK 74Eед4=8O �ND8. 

2.6.5. �Dотокол 74Eед4=8O �ND8 

2.6.5.1. %од 74Eед4=89 �ND8, о76уGе==Kе <=е=8O, пD8=OтKе DеHе=8O 8 Dе7улLт4тK 7олоEо64=89 
ото5D464NтEO 6 пDотоколе 74Eед4=8O �ND8. 



2.6.5.2. �Eе пD8EутEт6уNI8е =4 74Eед4=88 Gле=K �ND8 дол6=K поEт468тL подп8EL 6 л8Eте пD8EутEт68O, 
котоDK9 пD8л474етEO к �Dотоколу �ND8. 

2.6.5.3. �Dотокол 74Eед4=8O �ND8 EоEт46лOетEO 6 1 Mк7е<плODе. 

2.6.5.4. �Dотокол (6Kп8Eк4 87 пDотокол4) 74Eед4=8O �ND8, 6 котоDо< 87л474етEO пD8=Oтое DеHе=8е, 
пу5л8куетEO =4 !49те Ко=куDE4 6 теGе=8е 10 D45оG8E д=е9 Eо д=O пDо6еде=8O Eоот6етEт6уNIе7о 74Eед4=8O 
�ND8. 

2.6.6. �олоEо64=8е 8 пD8=Oт8е DеHе=89. 

2.6.6.1. �4Eед4=8е �ND8 пD46о<оG=о (8<еет к6оDу<), еEл8 =4 =е< пD8EутEт6ует 5олее поло68=K Gле=о6 
�ND8. 

2.6.6.2.  еHе=8е по 6опDоEу DоD<8Dо64=8O Dе9т8=74 Ко=куDE=KE пDедло6е=89 пD8=8<4етEO (еEл8 8=о9 
поDOдок =е 5удет уEт4=о6ле= �ND8) 6 поDOдке, ко7д4 к46дK9 Gле= �ND8 D4EпDеделOет 'G4Eт=8ко6 по 
<еEт4<, D46=K< кол8GеEт6у 'G4Eт=8ко6. �4 оE=о64=88 Eу<<8Dо64=8O 6KEт46ле==KE Gле=4<8 �ND8 оFе=ок 
'G4Eт=8к4< пD8E64864NтEO =о<еD4 6 поDOдке 6о7D4Eт4=8O Eу<<K оFе=ок 6EеE Gле=о6 �ND8. �олуGе==K9 
Dе7улLт4т 6K=оE8тEO =4 о5Eу6де=8е �ND8 8 пD8=8<4етEO к4к око=G4телL=K9.  

2.6.6.3. �олоEо64=8е O6лOетEO 74кDKтK< 8 оEуIеEт6лOетEO путе< 74пол=е=8O 5Nллете=е9. � Dе7улLт4те 
Eу<<8Dо64=8O 6KEт46ле==KE Gле=4<8 �ND8 оFе=ок DоD<8DуетEO  е9т8=7 Ко=куDE=KE пDедло6е=89.  

2.6.6.4.  еHе=8е по 6опDоEу д8Eк64л8D8к4F88 $8=4л8Eт4 пD8=8<4етEO кол8GеEт6е==K< 7олоEо64=8е< по 
пD8=F8пу «од8= Gле= �ND8 – од8= 7олоE» пDоEтK< 5олLH8=Eт6о< 7олоEо6. �олоEо64=8е O6лOетEO 
откDKтK< 8 оEуIеEт6лOетEO путе< под=Oт8O Dук8. 

2.7. �K5оD Ф8=4л8Eто6. 

2.7.1.  еHе=8е о 6K5оDе $8=4л8Eто6 пD8=8<4ет �ND8 поEDедEт6о< пDо6еде=8O К64л8D8к4F8о==о7о 
от5оD4. 

2.7.2. К уG4Eт8N 6 К64л8D8к4F8о==о< от5оDе =е допуEк4NтEO 'G4Eт=8к8, пD87=464е<Kе Gле=4<8 �ND8 
о5л4д4NI8<8 де9Eт68телL=о9 6о7<о6=оEтLN 6л8OтL =4 Dе7улLт4т Ко=куDE4. 

2.7.3. $8=4л8Eт4<8 пD87=4NтEO =е 5олее 3 уG4Eт=8ко6, допуIе==KE к К64л8D8к4F8о==о<у от5оDу, 
котоDK< пD8E6ое=о <еEто E 1 по 3 6 К64л8D8к4F8о==о< Dе9т8=7е �4O6ок. 

2.7.4. $8=4л8EтK Ко=куDE4 дол6=K подт6еDд8тL E6ое д4лL=е9Hее уG4Eт8е 6 Ко=куDEе, у6едо<86 о5 Mто< 
ОD74=874тоD4 6 теGе=8е 3 д=е9 E <о<е=т4 о5JO6ле=8O Eп8Eк4 $8=4л8Eто6 по MлектDо==о9 поGте, ук474==о9 
6 п.1.12.2. =4EтоOIе7о �оло6е=8O. 

2.7.5. �Eл8 6K5D4==K9 $8=4л8Eто< 'G4Eт=8к по лN5K< пD8G8=4< 6K5K64ет 87 уG4Eт8O 6 Ко=куDEе, 
$8=4л8Eто< пD87=4етEO к46дK9 EледуNI89 уG4Eт=8к, �4O6ке котоDо7о пD8E6ое= EледуNI89 поDOдко6K9 
=о<еD, кDо<е EлуG4е6, ко7д4 �ND8 пD8=Oло EпеF84лL=ое DеHе=8е о 6K5оDе $8=4л8Eт4 6 к4GеEт6е 74<е=K. 

2.8. До7о6оD E Ф8=4л8Eт4<8 8 6о7=47D46де=8е 

2.8.1. � теGе=8е 20 D45оG8E д=е9 Eо д=O 746еDHе=8O К64л8D8к4F8о==о7о от5оD4 ОD74=874тоD 6пD46е 
74клNG8тL E к46дK< $8=4л8Eто<, 74=O6H8< <еEт4 E 1 по 3, �о7о6оD, пDед<ето< котоDо7о O6лOетEO 
D47D45отк4 Ко=FепF88, Eоот6етEт6уNIе9 тDе5о64=8O< Ко=куDE=о9 доку<е=т4F88. 

2.8.2. К46дK9 $8=4л8Eт Ко=куDE4 полуG4ет 74D4=т8Dо64==ое де=е6=ое 6о7=47D46де=8е 74 6Kпол=е=8е 
Ко=FепF88 6 D4<к4E Ко=куDE=KE уEло689: 

1 <еEто – 600 000 (HеEтLEот тKEOG) Dу5ле9 E уGето< 6 Mто9 Eу<<е 6EеE =4ло7о6 8 E5оDо6; 

2 <еEто – 400 000 (GетKDеEт4 тKEOG) Dу5ле9 E уGето< 6 Mто9 Eу<<е 6EеE =4ло7о6 8 E5оDо6; 



3 <еEто – 400 000 (GетKDеEт4 тKEOG) Dу5ле9 E уGето< 6 Mто9 Eу<<е 6EеE =4ло7о6 8 E5оDо6. 

2.8.3. �Kпл4т4 74D4=т8Dо64==о7о 6о7=47D46де=8O $8=4л8Eт4< Ко=куDE4 оEуIеEт6лOетEO =е D4=ее Gе< 
GеDе7 10 D45оG8E д=е9 поEле подп8E4=8O 4кт4 пD8е<4-пеDед4G8 Ко=куDE=KE пDедло6е=89.  

2.8.4. �о5ед8телL Ко=куDE4 74клNG4ет до7о6оD E ОD74=874тоDо< Ко=куDE4 =4 доD45отку �DE8тектуD=о9 
ко=FепF88 5л47оуEтDо9Eт64 плоI4д8 у Eт4=F88 <етDо &улп4D =4 Eу<<у 1 000 000 (од8= <8лл8о=) Dу5ле9 E 
уGето< 6 Mто9 Eу<<е 6EеE =4ло7о6 8 E5оDо6.  

 

2.9. �од7ото68телL=Kе 8 о7=4ко<8телL=Kе <еDопD8Oт8O 

2.9.1. �е по7д=ее 20 D45оG8E д=е9 поEле о5JO6ле=8O $8=4л8Eто6 Ко=куDE4 ОD74=874тоD: 

- о5еEпеG864ет $8=4л8Eт4< 6о7<о6=оEтL поEет8тL 8 о7=4ко<8тLEO E теDD8тоD8е9 пDоект8Dо64=8O; 

- пDо6од8т длO $8=4л8Eто6 о7=4ко<8телL=K9 Eе<8=4D/6е58=4D длO D47JOE=е=8O поло6е=89 Ко=куDE=о9 
доку<е=т4F88, Fеле9 8 74д4G Ко=куDE4, 4 т4к6е пDедоEт46ле=8O =ео5Eод8<о9 допол=8телL=о9 
8=DоD<4F88. 

2.9.2. �=DоD<4F8N о EDок4E пDо6еде=8O оE<отD4 пDоект8Dуе<о9 теDD8тоD88 8 о7=4ко<8телL=о7о 
Eе<8=4D4 ОD74=874тоD Eоо5I4ет $8=4л8Eт4< путе< D47<еIе=8O Eоот6етEт6уNIе7о Eоо5Iе=8O =4 E49те 
Ко=куDE4. 

2.10. �оDOдок 8 EDок8 пеDед4G8 Ко=куDE=о9 доку<е=т4F88. 

2.10.1. $8=4л8EтK 7ото6Oт 8 пDедоEт46лONт Ко=куDE=Kе пDедло6е=8O 6 Eоот6етEт688 E &еE=8GеEк8< 
74д4=8е< (�D8ло6е=8е 3). 

2.10.2. $8=4л8EтK дол6=K пDедEт468тL ОD74=874тоDу Ко=куDE=Kе пDедло6е=8O =е по7д=ее 20 <4Dт4 20237. 

2.10.3. $оD<4 под4G8 Ко=куDE=KE пDедло6е=89: 

Ко=куDE=Kе пDедло6е=8O =4пD46лONтEO 6 4дDеE ОD74=874тоD4 6 MлектDо==о9 6еDE88: отпD46лOетEO =4 
MлектDо==уN поGту Ко=куDE4. 

2.10.4. � лN5ое 6Dе<O до 8EтеGе=8O EDок4 пDедоEт46ле=8O Ко=куDE=KE пDедло6е=89. $8=4л8Eт <о6ет 
6=еEт8 6 EоEт46 Ко=куDE=KE пDедло6е=89 87<е=е=8O, =4пD4686 ОD74=874тоDу Eоот6етEт6уNIее 876еIе=8е 
E пD8ло6е=8е< доку<е=то6, подле64I8E коDDект8Dо6ке. 

2.11. 'Eло68O 8EполL7о64=8O Ко=FепF89 Ф8=4л8Eто6 

2.11.1. Ко=куDE=Kе пDедло6е=8O $8=4л8Eто6 E <о<е=т4 8E пDедоEт46ле=8O =4 Ко=куDE Eт4=о6OтEO 
Eо5Eт6е==оEтLN ОD74=874тоD4 8 пеDеEодOт 6 е7о 6л4де=8е Eо 6Eе<8 8EклNG8телL=K<8 пD464<8 6 пол=о< 
о5Jе<е =4 оE=о64=88 4кт4 пD8е<4-пеDед4G8 Ко=куDE=о7о пDоект4.  

2.11.2. ОD74=874тоD 6пD46е 8EполL7о64тL отделL=Kе DеHе=8O, пDедло6е==Kе $8=4л8Eт4<8 Ко=куDE4. 
�D464 =4 8EполL7о64=8е пDедло6е==KE $8=4л8Eт4<8 Ко=куDE4 Ко=FепF89 пеDед4NтEO $8=4л8Eт4<8 
ОD74=874тоDу 5е7 о7D4=8Gе=8O EDок4 8 теDD8тоD88 8EполL7о64=8O 6 Eоот6етEт688 E тDе5о64=8O<8 
74ко=од4телLEт64  оEE89Eко9 $едеD4F88 о5 8=теллекту4лL=о9 Eо5Eт6е==оEт8.  

2.11.3. К46дK9 87 $8=4л8Eто6 о5O7уетEO =е пу5л8ко64тL под7ото6ле==уN 8< Ко=FепF8N (пол=оEтLN 8л8 
G4Eт8G=о) до под6еде=8O 8то7о6 Ко=куDE4.  

3. ОE=о64=8O длO д8Eк64л8D8к4F88 Ф8=4л8Eто6 

3.1. $8=4л8Eту <о6ет 5KтL отк474=о 6 д4лL=е9Hе< уG4Eт88 6 ко=куDEе по EледуNI8< оE=о64=8O<: 



- пDедEт46ле==Kе Ко=куDE=Kе пDедло6е=8O =е Eоот6етEт6уNт тDе5о64=8O< Ко=куDE=о9 доку<е=т4F88 по 
EоEт46у 8 EодеD64=8N; 

- Ко=куDE=Kе пDедло6е=8O под4=K E =4DуHе=8е< уEт4=о6ле==KE EDоко6. 

3.2.  еHе=8е о д8Eк64л8D8к4F88 пD8=8<4ет 6ND8 

3.3.  еHе=8е о д8Eк64л8D8к4F88 D47<еI4етEO =4 E49те ко=куDE4 

4. ФоD<8Dо64=8е Dе9т8=74 D47D45от4==KE ко=куDE=KE пDедло6е=89 

4.1. �ND8 D4EE<4тD864ет Ко=куDE=Kе пDедло6е=8O, пDедEт46ле==Kе 'G4Eт=8к4<8 E уGето< Ко=куDE=KE 
кD8теD8е6, пD86еде==KE 6 �D8ло6е=88 4, пD8E64864ет Ко=куDE=K< пDедло6е=8O< Dе9т8=7о6Kе 
поDOдко6Kе =о<еD4. 

4.2. � EлуG4е пD8E6ое=8O д6у< 8 5олее Ко=куDE=K< пDедло6е=8O< D46=о7о G8Eл4 54лло6, �ND8 пDо6од8т 
по6тоD=ое 7олоEо64=8е, Gто5K опDедел8тL луGHее 87 пDедло6е==KE Ко=куDE=KE пDедло6е=89. 

5. �о7=47D46де=8е по5ед8телO 

5.1. �о5ед8теле< о5JO6лOетEO уG4Eт=8к, GLе<у Ко=куDE=о<у пDедло6е=8N пD8E6ое= пеD6K9 =о<еD по 
8то74< оFе=к8 8 EопоEт46ле=8O �ND8 Ко=куDE=KE пDедло6е=89. 

5.2. ОD74=874тоD Ко=куDE4 74клNG4ет до7о6оD E �о5ед8теле< =4 доD45отку �DE8тектуD=о9 ко=FепF88 =4 
Eу<<у 1 000 000 (од8= <8лл8о=) Dу5ле9, д4==4O Eу<<4 6клNG4ет 6 Eе5O 6Eе =4ло78 8 E5оDK. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



�D8ло6е=8е 1. 

5 дек45DO - !т4Dт ко=куDE4 

5 дек45DO – �ле=4D=4O EеEE8O о5 оE=о6=KE уEло68OE ко=куDE4 6 D4<к4E 4DE8тектуD=о-EтDо8телL=о7о 
DоDу<4 К474=KH 

29 дек45DO – око=G4=8е пD8е<4 74O6ок =4 уG4Eт8е 6 ко=куDEе (поDтDол8о, MEEе, ко<плект доку<е=то6) 

16 O=64DO – 74Eед4=8е �ND8 от5оD 3 D8=4л8Eто6 

24 O=64DO – �DедоEт46ле=8е подDо5=о7о теE=8GеEко7о 74д4=8O длO $8=4л8Eто6. 'Eт4=о6оG=K9 6е58=4D длO 
$8=4л8Eто6 Ко=куDE4 E уG4Eт8е< пDедEт468теле9 7оDодEко9 4д<8=8EтD4F88 8 ОD7ко<8тет4 ко=куDE4. 

20 <4Dт4 – !д4G4 ко=куDE=KE D45от $8=4л8Eт4<8. 

26 <4Dт4 – �4Eед4=8е 1кEпеDт=о7о Eо6ет4 

29 <4Dт4 – �еDед4G4 Gле=4< �ND8 Ко=куDE=KE D45от D8=4л8Eто6 8 &еE=8GеEко7о отGет4 1кEпеDт=о7о 
Eо6ет4. 

3 4пDелO – �4Eед4=8е 6ND8. �K5оD �о5ед8телO. 

4-5 4пDелO – �DеEE-ко=DеDе=F8O по 8то74< Ко=куDE4. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



�D8ло6е=8е 2. 

1. !оEт46, EодеD64=8е 8 тDе5о64=8O к оDоD<ле=8N �4O6к8. 

1.1. �=DоD<4F8O о �Dете=де=те (8=д868ду4лL=о< �Dете=де=те 8л8 6 EлуG4е Ко=EоDF8у<4, о л8деDе 
Ко=EоDF8у<4): 

- �=DоD<4F8O о DоD<е уG4Eт8—8=д868ду4лL=ое уG4Eт8е/ уG4Eт8е 6 DоD<е Ко=EоDF8у<4; 

- �ол=ое =48<е=о64=8е �Dете=де=т4 6 Eоот6етEт688 E уGDед8телL=K<8 доку<е=т4<8; 

- !окD4Iе==ое =48<е=о64=8е �Dете=де=т4 6 Eоот6етEт688 E уGDед8телL=K<8 доку<е=т4<8; 

- (т4т ко<п4=88; 

- �4т4 Dе78EтD4F88 �Dете=де=т4; 

- КD4тк4O 8EтоD8O, кD4ткое оп8E4=8е деOтелL=оEт8 �Dете=де=т4, оE=о6=Kе =4пD46ле=8O деOтелL=оEт8 
(<4кE8<у< 1500 7=4ко6); 

- �=DоD<4F8O о =47D4д4E 8 6K87D4==KE ко=куDE4E 74 поEлед=8е 3 7од4 6 кол8GеEт6е =е 5олее 3 
(=48<е=о64=8е, 7од полуGе=8O), (<4кE8<у< 1500 7=4ко6); 

-  уко6од8телL �Dете=де=т4 ($.�.О. дол6=оEтL); 

- �дDеE MлектDо==о9 поGтK  уко6од8телO �Dете=де=т4; 

- �дDеE E49т4 �Dете=де=т4; 

- От6етEт6е==ое л8Fо �Dете=де=т4 74 74пол=е=8е 74O6к8 ($.�.О., дол6=оEтL); 

- �дDеE MлектDо==о9 поGтK от6етEт6е==о7о 74 74пол=е=8е 74O6к8 л8F4; 

- Ко=т4кт=K9 телеDо= от6етEт6е==о7о 74 74пол=е=8е 74O6к8 л8F4, 

- �оGто6K9 4дDеE �Dете=де=т4, телеDо=, D4кE (E ук474=8е< код4 7оDод4); 

- .D8д8GеEк89 4дDеE �Dете=де=т4; 

- �опол=8телL=Kе E6еде=8O, котоDKе �Dете=де=т 6ел4ет Eоо5I8тL о Eе5е (<4кE8<у< 1500 7=4ко6). 

1.2. �оDтDол8о. 

�=DоD<4F8O о =е 5олее Gе< пOтL (5) уEпеH=о Dе4л87о64==KE пDоект4E 74 поEлед=8е 5 лет по D47D45отке 
о5IеEт6е==KE пDоEтD4=Eт6 (=45еDе6=Kе, п4Dк8, Eк6еDK, ул8FK, пеHеEод=Kе 7о=K, плоI4д8, д6оDо6Kе 
пDоEтD4=Eт64 8 8=Kе 68дK о5IеEт6е==KE пDоEтD4=Eт6). 

&4к6е 8 8=Kе пDоектK, котоDKе �Dете=де=т EоGтUт у<еEт=K<8: 

- �4764=8е пDоект4; 

- �од Dе4л874F88; 

-  4Eполо6е=8е; 

- �87у4лL=Kе <4теD84лK—6 кол8GеEт6е =е 5олее 3 87о5D46е=89 =4 к46дK9 пDоект 6 DоD<4те jpeg (�4). 
 47<еD к46до7о jpeg-D49л4 =е дол6е= пDе6KH4тL 5 Mb. 

1.3. Доку<е=тK, пDедоEт46лOе<Kе �Dете=де=то< 6 EоEт46е 74O6к8 (6 EлуG4е, ко7д4 6 к4GеEт6е 
�Dете=де=т4 6KEтуп4ет Ко=EоDF8у<, доку<е=тK пDедоEт46лOет Л8деD ко=EоDF8у<4): 

- 'GDед8телL=Kе 8 Dе78EтD4F8о==Kе доку<е=тK �Dете=де=т4; 



- �Kп8Eк4 87 �д8=о7о 7оEуд4DEт6е==о7о DееEтD4 ND8д8GеEк8E л8F 8л8 =от4D84лL=о 746еDе==4O коп8O т4ко9 
6Kп8Eк8, полуGе==4O =е D4=ее Gе< 74 6 (HеEтL) <еEOFе6 до д=O под4G8 �Dете=де=то< 74O6к8 =4 уG4Eт8е 6 
Ко=куDEе; 

- �оку<е=т, подт6еD6д4NI89 пол=о<оG8O л8F4 =4 оEуIеEт6ле=8е де9Eт689 от 8<е=8 �Dете=де=т4; 

- �=DоD<4F8о==4O к4Dт4 �Dете=де=т4; 

- �4O6ле=8O о5 о7=4ко<ле=88 8 Eо7л4E88 E Ко=куDE=о9 доку<е=т4F8е9 (�D8ло6е=8е 6); 

- �екл4D4F8O о Ко=EоDF8у<е (6 EлуG4е уG4Eт8O 6 68де Ко=EоDF8у<4); 

- �8EL<о о D4EкDKт88 (пD8 =ео5Eод8<оEт8). 

1.4. Доку<е=тK пDедоEт46лONтEO pdf-Da9л4<8, D47<еD к46до7о =е дол6е= пDе6KH4тL 25Mb.  
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



�D8ло6е=8е 4. 

Ко=куDE=Kе кD8теD88: 

�ND8 оFе=864ет Ко=куDE=Kе пDедло6е=8O 6 Eоот6етEт688 Eо 

EледуNI8<8 кD8теD8O<8: 

- !оот6етEт68е тDе5о64=8O< &еE=8GеEко7о 74д4=8O; 

- �D8=F8п84лL=ое Eоот6етEт68е пDоект4 7D4доEтDо8телL=о<у 74ко=од4телLEт6у  оEE89Eко9 $едеD4F88 8 7. 
К474=L; 

- Ло78к4 пDоEтD4=Eт6е==о9 оD74=874F88, удо5Eт6о Dу=кF8о=4лL=KE E6O7е9 8 MDDект86=оEтL 6Eе9 
теDD8тоD88 6 Fело<; 

- �==о64F8о==оEтL пDоект=KE DеHе=89 6 EDеDе 5л47оуEтDо9Eт64; 

- 1коло78GеEк4O уEто9G86оEтL пDоект=о7о DеHе=8O, 8 к4к8< о5D47о< Mто DеHе=8е D47D45от4=о; 

-  е4л8Eт8G=оEтL пDоект4 E тоGк8 7Dе=8O EуIеEт6уNI8E теE=оло789 8 6о7<о6=оEт8 8E пD8<е=е=8O; 

- 1DDект86=оEтL пDедло6е==о7о пDоект4 E тоGк8 7Dе=8O D8=4=Eо6о9 <одел8; 

- ОD878=4лL=оEтL пDедл474е<KE DеHе=89; 

- 1DDект86=оEтL пDедло6е==о7о пDоект4 E тоGк8 7Dе=8O 74тD4т =4 EтDо8телLEт6о 8 поEледуNIуN 
MкEплу4т4F8N; 

- !о7д4=8е опт8<4лL=KE ко<DоDт=KE уEло689 длO 68теле9 8 туD8Eто6; 

- �DоG8е D4ктоDK, =4 уE<отDе=8е �ND8. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



�D8ло6е=8е 5. 

Декл4D4F8O о Ко=EоDF8у<е 

�K, =86еподп8E46H8еEO, =4EтоOI8< 74O6лOе< EледуNIее: 

1. �4==4O �екл4D4F8O Eдел4=4 =4<8 6 E6O78 E =4H8< уG4Eт8е< 6 откDKто< ко=куDEе =4 D47D45отку 
ко=FепF88 5л47оуEтDо9Eт64 плоI4д8 у Eт4=F88 <етDо «&улп4D» 

2. &еD<8=K (Eло64 8 6KD46е=8O, 6Kпол=е==Kе 6 д4==о9 �екл4D4F88 E пDоп8E=о9 5ук6K), опDеделе==Kе 6 
Ко=куDE=о9 доку<е=т4F88, опу5л8ко64==о9 =4 д4ту =4EтоOIе9 �екл4D4F88 =4 !49те Ко=куDE4, 
8EполL7уNтEO 6 д4==о9 �екл4D4F88 6 то< 6е 7=4Gе=88. 

3. �4==4O �екл4D4F8O O6лOетEO =еотJе<ле<о9 G4EтLN =4Hе9 �4O6к8. 

4. �K =4<еDе=K пD8=OтL уG4Eт8е 6 Ко=куDEе 6 EоEт46е Ко=EоDF8у<4. �DоE8< 8<е=о64тL =4E 6 D4<к4E 
Ко=куDE4 EледуNI8< о5D47о<: 

������О����� КО�!О &�'��. 

5. �4EтоOI4O �екл4D4F8O O6лOетEO ед8=Eт6е==K< доку<е=то<, опDеделONI8< EоEт46 Ко=EоDF8у<4, 8 
отEутEт6уNт к4к8е-л85о доку<е=тK, о5O74телLEт64 8л8 о5еI4=8O, пDедуE<4тD864NI8е 8л8 
пDедпол474NI8е уG4Eт8е к4ко7о-л85о л8F4, =е ук474==о7о 6 =4EтоOIе9 �екл4D4F88, 6 =4Hе9 D45оте 6 
к4GеEт6е 'G4Eт=8к4 8л8 'G4Eт=8к4 6 D4<к4E Ко=куDE4. 

6. Л8деD Ко=EоDF8у<4 =4деле= =4<8 8 о5л4д4ет пD464<8 8 пол=о<оG8O<8 пDедEт46лOтL к46до7о 8 6EеE 
уG4Eт=8ко6 Ко=EоDF8у<4 6 D4<к4E Ко=куDE4, 6 G4Eт=оEт8: пD8 под4Gе �4O6к8 8 74клNGе=88 �о7о6оD4 E 
'G4Eт=8ко<, 8 6 д4лL=е9Hе< 6 от=оHе=8OE E �4к47G8ко<, 6 G4Eт=оEт8: пD8 6еде=88 пеDе7о6оDо6 о 
74клNGе=88 до7о6оD4 8 =епоEDедEт6е==о пD8 74клNGе=88 до7о6оD4. �Eе ко=т4ктK E =4H8< Ко=EоDF8у<о< 
6 D4<к4E Ко=куDE4 8 поEле е7о 746еDHе=8O 6 E6O78 E D47D45от4==о9 =4<8 Ко=куDE=K<8 пDедло6е=8O<8 
дол6=K оEуIеEт6лOтLEO GеDе7 Л8деD4 Ко=EоDF8у<4. 

7. !оEт46 Ко=EоDF8у<4: 

7.1. Л8деD Ко=EоDF8у<4: 

�48<е=о64=8е, Dе78EтD4F8о==K9 =о<еD, <еEто =4Eо6де=8O ND8д8GеEко7о л8F4, ук474=8е =4 
Dу=кF8о=4лL=уN ко<пете=F8N 6 D4<к4E ко=EоDF8у<4, пD8 D45оте =4д ко=куDE=K<8 пDедло6е=8O<8. 

7.2. �DоG8е уG4Eт=8к8 Ко=EоDF8у<4: 

� от=оHе=88 к46до7о: 

- =48<е=о64=8е, Dе78EтD4F8о==K9 =о<еD, <еEто =4Eо6де=8O ND8д8GеEко7о л8F4; 

- ук474=8е =4 Dу=кF8о=4лL=уN ко<пете=F8N 6 D4<к4E ко=EоDF8у<4, пD8 D45оте =4д ко=куDE=K<8 
пDедло6е=8O<8; 

- оEо5е==оEт8 ND8д8GеEко9 E6O78 E л8деDо< ко=EоDF8у<4, дDу78< Gле=о< ко=EоDF8у<4 (=4пD8<еD, 
пDоEтое то64D8IеEт6о, подDOд); 

- по 6K5оDу ко=EоDF8у<4 дDу74O 8=DоD<4F8O. 

�4т4________ 

�одп8EL/пеG4тL к46до7о 

пDедEт468телO ко=EоDF8у<4__________________ 

 



�D8ло6е=8е 6. 

ФоD<4 74O6ле=8O о5 о7=4ко<ле=88 8 Eо7л4E88 E ко=куDE=о9 доку<е=т4F8е9 

(�Л��К О ������&�� - �������'�Л0�О�О � �&�����&� �Л� � !Л''�� КО�!О &�'��, Л��� � 
КО�!О &�'��) 

 �K EEKл4е<EO =4 Ко=куDE=уN доку<е=т4F8N 6 от=оHе=88 О&К /&О�О КО�К' !� ��  �� ��О&К' 
Л''(�� КО�&��&�� �Л��О'!& О�!&�� �ЛО)��� ' !&��&�� ��& О «&'Л�� ». &еD<8=K, 
опDеделе==Kе 6 Ко=куDE=о9 доку<е=т4F88, 8<еNт те 6е 7=4Gе=8O 6 д4==о< �4O6ле=88.  

�4EтоOI8< <K (�/� �&0: 6 к4GеEт6е 8=д868ду4лL=о7о �Dете=де=т4 �Л� 6 к4GеEт6е л8деD4 Ко=EоDF8у<4 
от 8<е=8 6EеE уG4Eт=8ко6 Ко=EоDF8у<4, ук474==KE 6 �4O6ке) дел4е< EледуNI8е 74O6ле=8O:  

- <K о7=4ко<8л8EL E Ко=куDE=о9 доку<е=т4F8е9, 6KD464е< Eо7л4E8е E поло6е=8O<8 'Eло689 ко=куDE4 8 
пD8Eоед8=Oе<EO к =8<;  

- <K подт6еD6д4е< доEто6еD=оEтL пDедEт46ле==о9 =4<8 6 �4O6ке 8=DоD<4F88 8 подт6еD6д4е< пD46о 
ОD74=874тоD4 74пD4H864тL у =4E, 6 упол=о<оGе==KE оD74=4E 6л4Eт8, 4 т4к6е у упо<O=утKE 6 =4Hе9 74O6ке 
ND8д8GеEк8E 8 D878GеEк8E л8F 8=DоD<4F8N, утоG=ONIуN пDедEт46ле==Kе =4<8 6 =е9 E6еде=8O;  

- <K по=8<4е<, Gто =4H4 �4O6к4 <о6ет 5KтL откло=е=4 8 6 EлуG4е пDоEо6де=8O =4<8 К64л8D8к4F8о==о7о 
от5оD4, <K <о6е< 5KтL д8Eк64л8D8F8Dо64=K, 6 EлуG4е еEл8 пDедоEт46ле==4O 8=DоD<4F8O O6лOетEO 
=едоEто6еD=о9, =епол=о9 8л8 =етоG=о9, 6 то< G8Eле, еEл8 =4<8 =е пDедEт46ле=о �8EL<о о D4EкDKт88, 
ко7д4 е7о пDедEт46ле=8е O6лOетEO о5O74телL=K< 6 Eоот6етEт688 E поло6е=8O<8 'Eло689 ко=куDE4;  

- <K Eо7л4H4е<EO пD8=OтL DеHе=8O �ND8 к4к око=G4телL=Kе. 

�4т4 �одп8EL/пеG4тL 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



�D8ло6е=8е 7. 

ФоD<4 декл4D4F88 о5 46тоDEт6е 

��КЛ� �&�/ О� ��&О !&�� � О�К&�  

ОD74=874F8O (л8деD Ко=EоDF8у<4)  

$�О Dуко6од8телO пDоект4  

�ол6=оEтL  

&елеDо=  

1лектDо==4O поGт4  

�K EEKл4е<EO =4 'Eло68O ко=куDE4 6 от=оHе=88 О&К /&О�О КО�К' !� ��  �� ��О&К' Л''(�� 
КО�&��&�� �Л��О'!& О�!&�� �ЛО)��� ' !&��&�� ��& О «&'Л�� ». 

�4EтоOI8< 74O6лOе<, Gто пDедEт46ле==ое =4<8 Ко=куDE=ое пDедло6е=8е O6лOетEO =4Hе9 Eо6<еEт=о9 
D45ото9, 8 6EO доку<е=т4F8O 5Kл4 под7ото6ле=4 л85о =4<8 л8G=о, л85о =4Hе9 оD74=874F8е9/ко<4=до9 
под =4H8< =епоEDедEт6е==K< ко=тDоле<.  

�4EтоOI8< 6KD464е< Eо7л4E8е E те<, Gто5K пD8=OтL DеHе=8е о 6K5оDе �о5ед8телO к4к око=G4телL=ое. 
�4EтоOI8< 6KD464е< Eо7л4E8е =4 пу5л8к4F8N 8 пу5л8G=K9 пок47 =4H8E ко=куDE=KE пDедло6е=89 6 
D4<к4E Ко=куDE4. 

 �4т4 �одп8EL 

 


